Multiplication par 10 (A)

Trouvez chaque produit.

24 x 10 = 83 x10=
54 X 10 = 77 X 10 =
18 x 10 = 47 x 10 =
48 X 10 = 81 x10=
32x10 = 13 x 10 =
42 X 10 = 85 x 10 =
17 x 10 = 64 X 10 =
40 x 10 = 87 x10 =
78 X 10 = 10 X 10 =
85 x 10 = 11 x10 =
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Multiplication par 10 (A) Solutions

24 X 10 = 240

54 x 10 = 540

18 x 10 =180

48 x 10 =480

32X 10 =320

42 x 10 =420

17 x10=170

40 x 10 =400

78 x 10 =780

85 x 10 =850

Trouvez chaque produit.

83 X 10 =830

77 x10=770

47 x 10 =470

81 x10=2810

13 x10=130

85 x 10 =850

64 X 10 = 640

87 x 10 =870

10 x 10 =100

11 x 10 =110
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